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A contractor take a contract of completing a
road in 25 days and employee 28 labours. After

18 days only 2/3 of work get completed then
how many more labours should be employed to
complete the work on time he has to employ?
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A contractor undertakes to do a piece of work
in 96 days. He engages 100 men at the begin-
ning. But in the 1/6 of the/scheduled time, 1/7
of work is completed. Howimany additional'men
should he emploeged so that the work will be com-
pleted in time?
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A contractor tnidertakes to do a piece of work
in 40 days. He engages 100 men at the begin-
ning and 100 more after 35 days and completes
the work in stipulated time. If he had not en-
gaged the additional men. Then after how many
days from scheduled time the wrok would be
finished?
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4.

A contractor signed a contract ot finish certain
piece of work in 40 days. Initidlly he hired 130
workers. After 20 days he realized that work
will not be finished on time and he again hired
50 more workers and work finished'on time. If
he had not hired extragiworkers then for how
miany days work would have been delayed by?
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A builder take contract to build a farmhouse in
20 days. He start the work with 40 labour and
after 10 days he employ 20 more labour to com-
plete the work on time. How many more days
are required to complete the work, if he do not
employ additional workers then work get com-

pleted ?
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(A) 2 day/feT

(B) 6 day /e

(C) 4 day/fe=

(D) 5 day/f=
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A contractor wants to complete a project in 90
days and he emploved 60 workmen. After 60
days 3/4 of the work is completed. Then how
many persons should he remove so that the
project will be completed in stipulated time?
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A contractor take a contract of completing a
work in 124 days and employ 120 man. After 64
days he observes that the 2/3 of work get com-
pleted. Accordingly how many man he can re-

duce to complete the work on time?
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A contractor take a contract to complete a work
in 92 days and employed 110 man.After 48 days

he observes that 3/5 of the worlc i€ dofie. How
many man he can redlice to completethework

on time?
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A Contractorjemployed a certain number of
workers to tinish constructing a road in a cer-
tain scheduled time. Sometime later, when a
part of work had heen completed, he realised
that the work would get delayed by three-fourth
of the scheduled time, so he at once doubled
the no of workers and thus he managed to fin-
ish the road on the scheduled time. How much

work he had been completed, before increas-
ing the number of workers?

T SHER T 9% i (H7=a 999 ¥ 9 % foe ffeem
T 1 TN | S AT F1E T | H FHS 9N YU,
T I 9 g3 o % Feifa ga &1 374 vm « faea
TSI 2, T SH O S wen g A e ey we
=M Hied w9F H 90 81 T W@ Sen 9o 9 1w
ToRaT =9 T 7T e ?

10.

11.

12,

1 1
9_0(] 7_(:’()
() 95 (B) 7%
1 2

(© 115% (D) 142 %

5
A contractor employed 200 men and s of total work
compleled in 10 davs. Due Lo rain the work was

2
slopped & 5 ol work was also deslroyed, Afler rain

only 150 men come on work. In how many days Lhe
whole work will be compleled?
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A labeurerwas appointed by a contractor on the
condition he would be paid ¥ 75 for each day of
his work butsweuld be, fined at the rate of ¥ 15
per day for his absent. After 20 days, the con-
tractor paid the labourer ¥ 1140. The number
of days the labourer absented from work was
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(A) 3 days (B) 5 days

(C) 4 days (D) 2 days

A contractor gives a contract to X' for building
awall in 8 days. After 2 days of starting of work
he realize that he will be able to finish 64% of
work in the contracted time, so he invite Y and
Z due to which they complete the work on 6th
day from starting. At the end, if ratio of money
received by X, Y and Z is 12 : 8 : 5 then find in
how many days Z can alone complete the work?
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(A) 20 days
(C) 30 days

(B) 25 days
(D) None of these
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13. A contractor takes 153 men for dig of cannel. They will
work 6 hour in a day and will complele the work in 28
days. Aller 10 day. due Lo accidenl work slop [or 12
days and 4 men unable to work. After that the work
for 9 hours per day duration. How many extra men
need Lo complele work wilh in Lime?
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14. A conlraclor underlook Lo (inish a work in 130 davs
and he employs 20 men and 30 women and 75 chil-
dren, After 60 days only 1/4 work was complete. Now
he have removed all the women and 30 children and
employed some more menso thal the work will finish
5 days eatlier. Find the extra man? [f 3 men =3 women
and 2 women =3 children.
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Solutions

1. (A) Men Work  Time
28 2 18
X 1 7
= 28x1x18 = xx2x7
= X = 36
2. (B) 100x16 _ (100 +'x)80
1 6.
77 A7
x=20
3. (B) 5x100=100xD
D=5
4. (A) Let Remaining work after 20 days = R
SO,
Men work Time
(150+50) R 20
150 R D
_ 1200 xR %200 7'80
T T T isoxR = 5
) 80 140
= Required days = 20 + = days
5. \(I?) 40 Tabour x x day = 60 labour x 10 day
w0
=x =y =15 day
= exlra lime =15 -10=5 day
6.(B) 60x60 (60-x)30
3’ 1
74 4
40=60-x
x=20
7. (D) Men Work Time
120 2 64
X 1 60
= 120 x1=64 =x x 2 x 60
= X = 64
eliminate = 120 - 64 = 56 men
8 (O ATQ
Remaini K 1_3_2
cmaining work = 1= =%
Person Work Time

110 3 48
>< 5 ><
2
x 44
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N xx§><44 = 110><%><48
2 o)
v 110x 2% 48
' Ixdd
No. of persons to be retrenched = 110 - 80 = 30
poerson

=80 persons

9. (D) Let initially workers are x

10. (A) Doslroyed work by Rain =

No. of scheduled days to complete work are Y
days.
ATQ,
7
Total work (w) = 25

Let x men worked for P days and completed g
work. and 2x men worked for (v - p) and work
gets completed.

7
= xp + 2x(y-p) = RNy

7
=pt2y-2p= .y

=S>p= 4
4
=v=4p
So, men work time
X q p
2x (w-q) (y-p)
=X X (w-q) X p=2x%xg * (4p P}
=>wW-q=6q
= %=%=14§% of work

2
Sojthey completed 14 7 9% of total work before

increasing number of workers.
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Remaining Work =1 -

So,
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Men Work Time

200 10

150 D
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200 % £ x10
B

=D= 50,8
6

1. ©

12.(4)

13. \ (B)

14. (A)

=D =8 davs
So, Tolal days Lo complele Lhe work =10+ 8 =18
days
75 %20 - 15(20 - x) = 1140
1300 - 300 + 15x = 1140
x=4

ATQ,
x can complete 64% of total work in 8 days.

6
So, x's efficiency = ry = 8%

So, x will do 6 * 8% = 48% of total work.
As we know,
wages o total work work 'dane

So, X Vgt Z
wages 12 . 85 @ 5
work done  48%d: o 2o
. 48
So, Z's work'in 4 days = 1" 5 =20%
=T, = 50 X 100 = 20 days

Led remainingwork afler 10 days =R

Men  Work Time
15 R 18x6
(:ll—x] R 6x9

15x6x18 (11-x)x6x9

R R
= x=30-11 =19 persons
ATQ,
M W : C
> 3 : 2
Lel X extra menwere cmployed
So,
Men Work Time
1
[20%53+30x3+75%2] 2 60
.= 3 -
[20%3+xx53+25%2] 2 85

3 1
— 340 X %X60=[150+5x]>< 778

=144 =30+ x
= x =114 men
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